[BAELRE I RIE

. TR 35 SER . -
= = R ] 14 £ie S A8
£liHe 12 R

F1R: 14 (#4910 9>%h) Q

E2R:59E (£ 08 4>%h) Q

¥3XR:10-11EF (23 08 734) a

FA4R:12-17F (29 12 734h) a

B | #sX:1820% (£ 08 534) Q
~ %6 K:21-25= (29 15 234h) a
w | ETR268%F (#1054 | 0

#8K:2931% (£ 12 5>%h) |}

EIR:32-36F (29 12 53%0) a

%10 K:37-40 &= (29 10 434) a

H11K: 41445 (29 10 434) Q

%12 K:45-50 &= (29 18 434) Q
HE (F—%: 11 8) 77X

B1R: 188 (£ 09 4>%h) a

E2R: 916 & (9 09 4>54) a

i $3K: 17218 (£9 09 534) Q
@ | BAK 227E (woossn | Q

¥ 5K: 28-34 5 (£ 10 23%) a

% 6X: 35-38 8% (£ 09 734) a

F 7R 39418 (29 05 43%H) a
HR KD 10X

H1K: 14 (£9 10 H%9) a

H2K: 58 (29 10 43-5) a

3K 911Z (29 08 4> ) a

'"mj HAK: 12153 (29 12 43-5) a
. #5%K: 16-19 = (29 10 43-5) a
o % 6K: 2023 % (£9 12 7%4) d

B7K: 24272 (£9 10 43%h) a

#8K: 2830 = (29 10 43-5) a

HoK: 3134 = (29 10 43-5) a

%10 X: 35-40 = (29 18 43-45) a

WE (BTH: 212 8) 5K
1K 4248 5 (£5 09 434h) a
w 2 K: 4954 (£9 09 534) a
g;% 3 K: 55-60 & (£9 09 5341) a
#4K: 61-68 (£9 10 43%h) a
®5K: 69-72 (29 09 4>4d) a
Flki 9K
#1K: 132 (29 05 4>4) a
E2K: 47 (#4912 9>%h) a
mw #3K: 810 (#4508 £>44) a
o0 F4KR:11-13 = (29 12 435H) a
~ $5K:14-15= (£ 08 434) (|
® %6X:16-17 = (£9 05 43%h) a
%7K 18205 (£9 10 435) a
B R 21245 (29 12 435h) a
%9 K:25-27 % (£9 08 43-45) a
HE (=% 73-898) 3K
g E1KR: 71377 (24 09 434d) a
EP;R E2K: 7883 (#4912 54) a
®3X: 84-89 & (#4910 434m) a
R#ic 9K
F1KRK 14%= (£ 15 434h) Q
#2X:58% (29 15 53%h) a
0y 3K 912F (29 10 %) Q
o B4R 13152 (£9 10 435) )
g #5K: 1620 & (£9 12 H%9) Q
i #FeK: 21-25% (25 15 434d) Q
HE7K: 26:29% (29 10 43-5) Q
%8 K:30-33= (23 20 2>4) Q
%9 K: 34-36 = (23 05 234)
By e (Emd: 90-106 &) 8 X
o« F1X: 90965 (£909 5>4h) Q
o %2 K: 97-103 & (9 09 434) a
% #3K: 104-106 & (£9 10 73%h) (]
&




Hfric PN
TR 142 (£9 15 53%h) a
m | F2R58E (#4910 53%h) Q
n B3R 913 (£ 15 43%) a
< B4R 1418 = (£9 12 734h) a
o H5K:19-02F (25 10 4>5) a
&® % 6K:23-25 %= (£9 05 43%h) a
$7K: 2629 (29 15 435h) a
¥ 8XK:30-34 = (29 18 43-5) a
wE (FH%: 107-150 &) 8 X
®1X: 107-112 & (29 09 4>%) a
g ®2X: 113-118 & (29 08 4>4) (|
S BIK: 11955 (#4912 9>%h) a
< B4X: 120-132 5 (24 09 434 a
s #%5%K: 133-140 & (25 09 434t a
FeK: 141147 & (£ 09 434) a
%7 K: 148-150 &
AP 6K
E1K: 143 (#4908 434m) Q
e H2XK: 58 (£9 12 5%9) a
% #IK: 9125 (£9 12 43%h) a
& $4XK: 13165 (#4912 434h) a
®5K: 17-20= (£9 10 435) a
H6K: 2124 (£9 12 435h) a
N 7X
O ias w05 | O
%2R a5m (Zgoss¢m) | Q
B | wiriesm (£9.20 53%5) Q
Q ) — (#4912 53%h) a
% 4K:9-12 %
ki ' (29 12 43>h) a
% 5%K:13-16 =
- pa (£9 05 %) a
FOXNTIEE @0a5 | 0
%7K:19-21 = -
L 1%
o 283
il e it | 0

m | AR (R EPN
g | ®Ei1x1am (Zyosnem | O
| FE2Rs57E (£9 05 5344) Q
#3K: 89 (£9 05 4>44) (]
BEHIC L 8K
B1R 142 (£ 12 434h) a
& HI2R:57 (#4905 4>54) (]
o #3K: 811 (£9 10 53%h) (]
i % 4K:12-15= (£9 15 435) a
f" ®5%:1620 = (£9 18 434h) Q
& HFeK:2124% (29 10 2> 4d) a
%7 K:25-28= (29 10 234) (|
%8 K:29-31 = (25 05 434m) a
BEELT 7K
BI1K: 14 (29 12 4>%) Q
m | $2XR: 58F (£9 10 53%h) Q
@ E3R: 912E (£ 10 93%) a
" ®4R: 13-15F (29 12 435h) a
®5K: 16-19= (29 12 534h) a
®6K: 2002 (25 10 434h) a
BIKR: 2324 (29 08 434) a
m | BE (2R 3R
< #1K:10-13 = (#5 08 434h) a
W | F2XK1720F (£ 12 544) Q
HF3I K214 (29 12 4>45m) a
FEL E 6 X
B1R: 145 (£9 15 434h) Q
ey %2 K588 (9 12 534) a
Q #F3XK:911Z (£9 12 435h) a
#® FA4KR: 1214 (29 10 435) a
% 5%K:15-18 % (29 12 435h) a
®6K:19-22F (29 15 234) a
FELT 6K
B1K: 143 (29 12 534) a
i $2K: 58% (£9 18 434H) Q
N B3R 911 (29 12 435h) a
® B4R 12-15F (29 12 534d) a
®5K: 16202 (29 18 4>4) a
®6K: 21-25= (29 15 4>5H) a




m | BE (=R 3R
N B1R 25275 (£4 08 4>%h) a
s | H2XR:2829% (#4905 5344) Q
#3X:30-31 % (29 05 2> 4) a
BREL 8K
E1R: 143 (4 15 434) a
m E2R:57E (£9 12 9%h) a
Y #3IK: 810 (£9 10 >49) a
o FEA4KR 11143 (912 5%h) a
gﬂ‘é 5K 1518 % (29 12 534) a
%6K:19-23 = (£9 12 435h) (|
BT K 24275 (29 12 435h) a
%8 K:28-29% (£9 05 435) a
BRET 8K
1K 175 (£ 18 4>%) Q
i FEo2R: 811 (£9 10 9%h) a
- B3R 12-16 = (£9 10 %) (]
< AR 17-21% (29 12 H4h) a
2 H5K: 2255 (29 12 435h) a
" %6 K: 2628 (25 06 4>5) a
HIK: 29-32F (29 12 435h) a
#8K: 33-36 = (29 12 43-5) a
BEH 4x
i F1K: 12 (£3 05 534) a
;&’é H2K: 36 (#4908 434) a
? ®3K: 710 (£9 10 9%h) Q
4R 11-12 (29 05 43>5h) a
IXEFRIT 4R
'i’?'l 1R 12 (£9 08 5>44) a
k,,’;’% 2K 355 (£9 08 >4) a
< #3K: 68 (£9 10 9%h) a
®4K: 910 (£9 05 43%h) a
=Yk ST 5X
B1K 132 (£ 08 4>%m) Q
M| gakoase @osne) | O
[& B3R 67 (£9 05 >%h) (]
A ®A4K: 810 = (#5910 4>%4) Q
#H5%K: 11-13 = (29 10 43-5) a

e 3K
EIK: 14 (£ 6 4>%ih) a
H2K: 57 (£9 6 534h) a
i $3K 810 (296 43%4) a
m
ki
Fiid 2X
E1K 145 (29 8 534) a
#2K: 58 (£9 8 4>44) (]
291Aic 10 X
H1K: 135 (#9 06 5341) a
E2K 47 (#4908 4>51) (]
m B3R 811 (£9 10 73%h) a
5 BAKR 12143 (29 05 434h) a
@ % 5%K:15-18 = (25 06 4>4m) a
#® %6K:19-22= (£5 08 4>4) a
%7 K:23-25= (29 05 2> 4) a
%8 K:26-31= (29 12 4>45m) a
%9K:32-37 = (29 12 4>45mM) a
®10 K:38-42 = (29 11 4>5m) a
AEAH 4%
Tl o g1x13% (“1059) | O
;& Ho2R: 47 (9 12 534) a
! H3K: 810 (£9 10 %) Q
B4R 1114 = (29 12 4>45) a
FEES B 3K
ey ®1R: 135 (£4 08 4>%h) a
% 2K 46 (#4910 £>%h) a
i EIK 79 (29 10 4>44) a
METH 18X
B1R: 143 (£9 10 534) a
i #®2K: 57 (£ 08 434) a
N ®3K: 812 (£9 15 53%h) a
- ®AK: 13-16 = (£9 12 43%4) a
< ®5K: 17-20= (£9 05 434h) a
g B6K: 2124 (29 12 2>4) a
" B R 2527 (29 08 34) a
%8 K: 2831 (29 15 4>5H) a
%9 K: 3235 (29 10 2>4) a
%10 K: 36-39 = (29 12 5>4%9) a




HER 1X
ey 1R 142 (#9 8 534) a
(e}
<
B g 1 %
1R 13 (49 8 534) a
UAEEB 11K
F1R: 158 (£9 10 H%9) Q
#2R: 610 (#4910 4>54) a
- H3IKR:11-14= (25 10 434) a
o B4R 15-17 2 (29 10 4>5) a
N 5K 1821 & (£9 15 5>44) Q
L~ HeoK:2226%E (29 12 734h) a
Eily B7K:27-30% (249 12 434h) |
%8 K:31-34 = (29 12 534h) a
%9 K:35-39 = (29 15 434h) a
%10 K:40-44 = (29 18 4>4) a
%11 K:45-48 = (29 15 534h) Q
BESE 4x
H1R: 133 (£9 10 554 Q
E2R: 46 (#4912 >%h) a
3K 79 (249 12 4>%h) a
¥4XK:10-12 (#4908 434) a
B | iz 1K
] B1K: 125 (29 5 534) a
(o]
<
® | BonFEH 3X
B1R: 158 (£3 08 434) Q
F2R: 611 (£9 09 534) a
3K 12-14E (£9 06 435h) a
IMArE 1X
B1K: 145 (29 8 4>%h) Q

HF11K: 40-42E (£ 10 235) a
H12K: 4347 = (29 15 3450) a
%13 K: 48-49 = (£5 08 43-5) a
%14 X: 50-53 = (£9 10 43-5h) a
#15K: 5457 & (29 10 4>§0) a
%16 X: 58-60 = (£5 08 43-5) a
%17 XK: 61-64 = (29 10 434) Q
% 18 X: 65-66 &% (£9 08 43%h) a
3E$ 1X
T1KX: 132 (£ 15 5%h) d
e Bt 2X
B1K 135 (£ 08 4> %) a
E2K: 47 (#4912 9%h) Q
ey
N ] 1X
i B1K 135 (£ 8 4>4h) a
HERE 1K
®1K 135 (£ 8 4>%) a
HEETH 1xX
1R 12 (£ 5 4%4mM) a
BRFIK B 13K
E1R: 14 (£9 15 434) a
#2K: 59 (£9 18 >4) a
#3%K:1013 (#4915 549) a
- HA4KR 1417 (29 18 34h) a
" F5KR: 1821 (29 08 534) a
s %6 K: 2225 % (29 12 5344) a
3 %7K 2629 (29 12 435h) a
Ei %8 K:30-33 (29 15 235h) a
%9 K:34-38 (£9 15 435h) a
% 10K:39-43 = (£9 10 435) a
%11 K:44-48 = (29 15 534) Q
%12 K:49-50 & (£9 12 53%h) Q
# 13 R:51-52 % (29 12 5359) O
T | WAk 1X
gr& B1K: 155 (£ 18 4>4M) a




